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Problem I:

Determine the distance d between A and B so that the resultant couple moment has a magnitude
of Mg = 20 N.m. (1 5points)

Calculations:
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Problem IY:
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The beam is supported by a roller at A and pin at B. Determine the reactions at support 4 and B.
(15 points)

Note: FBD must be included
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Problem II1:

Determine the force in each member of the truss and state if the members are in tension or
compression (Use a combination of method of section and joint to solve the truss). (40 points)
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Problem IV:

A plane frame with & péa’ support at A and pin support at E has a cable attached at C which runs
over a frictionless pulley at F. The cable force is known to be 500 N.

() Find reactions at supporis A and E. (3 0 points)

Note: FBD must be included
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Good Luck!
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